Xn2>7 7"7 'O 2,7 PO .72

— STTITS 527 MARD RY IND TV RIT KD RPA9IT
Perhaps it is not so; only in this case did >''1 not state, etc.

OVERVIEW

Our X723 initially attempted to state that the status of an 2"¥ n17 2Ip1 YoxY
mTn° is dependent on the nP12mn between 1327 °"1. The X3 then rejected
this hypothesis in both extremes. °"7 can maintain that an "2 y°X¥¥ is
considered 71217 and the 127 can maintain that an 121 y°X¥ is not considered
72mn. The question arises what is the status of this M0 2"y n1nT 2P1 7XY?
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This is the truth that an y>3¥ is considered attached to the ground even
when it is placed on pegs (as opposed to a >"17% n2°90 which is m2% PwWwY),

for the X3 in 72257 P95 quotes a xn>"2 -
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‘We do not write a 9121172 only if the m> possesses at least an 21p1 773,
and the X7n establishes this aforementioned X072 that the y°xv was placed

on pegs over ground that did not belong to the m*.> This proves conclusively that an
mIne A"y namn 2P Py is considered Ypap? N2Mn since we may write a 22779 on
account of it.

mMooIN anticipates a difficulty:
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And concerning that which the X713 says here, ‘only in this case of a ship

did the 3229 not say’ that it is not 121n; since there is water which connects the ship
to the river bed. However, where there is no water in between, and air separates it from
the ground, as in an M7 3"Y MNAT 2P POXY, it is not 72N -
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This indicates that concerning an >3y all* will agree that it is not

' A 912119 is a document that enables a M2 to collect his debts from the M even if qunw transpired during
the loan period. It is a 71PN of P17 991, A 912719 is accorded to the mon provided that the 777 possesses ypap
(see *"wn and n»dOIN there). The discussion concerning an y°X¥ is whether this is considered sufficient ¥p7p
to enable a 712170 to be written.
2 An 21p1 7%V since it is considered PR 7297 it is M7 YPIP, as opposed to an 2P WKW 7OXY.
3 Otherwise if it was resting on the ground, then the Mm% would be considered as the owner of the ¥p7p upon
which the y°¢v is resting and it would not matter if the y°X¥ is 2323 or 21P1 1RW.
4 See “Thinking it over’ # 1.
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considered attached to the ground.’ This would contradict Mmoo assumption that the
truth is that an N0 3"y 73177 2321 vo%Y is considered N2,

mooIn responds that there is no contradiction, for the statement of 121 7327 AKP 8?82 TV -
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It is merely a disclaimer; that we cannot conclude that the 1121 definitely maintain
that an M7N° 2"Y M7 23P1 POXY is 7217 on the basis of what the 7127 maintain by a 71°50.
However we can conclude that the truth is that an n7n° 2"V [T 231 vo¥Y is considered
ypIpPY 1211 based on the X n3a in 2w,

mooIn questions this ‘truth’:
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And concerning that which the X772 says in naw noon in P XOX™7 OB,
‘this perforated flowerpot which was lying on the ground and was

subsequently placed on pegs on naw
- Y2IN O0IVN 2N

He is liable for transgressing the 72X%1 of uprooting.” The xm there is
seemingly saying that when the X0°579 was on the ground it was considered ypp? 121mn;
however once it was placed *>°0R it is considered w2n. This is in direct contradiction to
what n1901n is assuming that an NM70° A"V [T 21 XY is (still) considered N2,

mooIn responds:
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that what the X723 says there that he is 211, is only j13972as 3"'w9 explains

there; however 7071 12 he is Mo, since even if it is *2°08 M it is still considered 7217
XN»7X77 as mentioned previously. The 0°non prohibited removing this 231 y°xv from the
ground and placing it *>°0X for it appears as if we are uprooting something from its
attachment to the ground.

SUMMARY

An MIn° 2"V T 21P1 7OxY is considered ypaph 12mn as is evident from the
XT3 in 121w that permits a 7121179 to be written if the MY possesses only this
v°xy. The contradictory statement in our X713 i1s merely a disclaimer, not to

5 If we were to accept this 131 182 7y, then we may assume that since even the 1127 who maintain by a 750
that it is considered 12171, nevertheless by an y°xv since the air separates it from the ground, it is not
considered "2nn, then certainly *"9 who maintains that even by a 71°90 it is not considered 121 so most
certainly an y°x¥ will not be considered 221.
¢ The term 2°1 means that he is 131277% N7 N 2. See ‘Thinking it over # 2.
Tavn a7 ow.
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be taken as a ruling.
The X723 in naw ndon when it states that if someone places an A"¥ 23p1 XY
nawa mn° he is 27, that 2117 is only 132777.

THINKING IT OVER

1. Why is it necessary to assume that if we accept the second >8P &9 >"v
"3 1327, then 22715 17 XY ¥™5%;® perhaps *" will maintain that only a 71°90
is not 7212 because it is M122 7MWY as opposed to an yxY?

2. Mo maintains that we do not accept the second distinction between
7100 and yUxv that 7°90 is XK p°091 XY [but rather only the first distinction
that 72°90 is M12% WY and therefore it is not considered 12wn]. If this is
indeed so then why does m»0in maintain that by °2°0X °miX he is 217 only
112777,° he should be Xn»1871 21, for while he is transporting the y°¥v from
the ground it is not considered 121n, so he is performing the 72871 of
wn?!o

8 See footnotes # 4&5.
? See footnote # 7.
10 See 35 MX 7"210 and TP MR "9,
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